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é )
@6evmINE BWIHHL_ (hd OBHTHE0 HIL LIUIGOTEN] SHLOSHLD

&evall ommId LUIBA Lifley
AA3 L sng — semeufl 2016
(32) waTemDHFHIUD BewTHSHD BIHUIUWIEVILD

ufibHienTsBIULL  ellenL &6iT
\ y,

AuuGHuwissiten 4 eflembsEpsE&D alanL weflsbs.
(QrgHsd 20 siteriaeir)

elem 01B@ UfbgHemrsaiulL elenLa&ei.

a) L oanflwiy Gaosomu lguID
IL. oa ] BHIDLNSens Bl
IIl. sFmhsguis,dsuib
IV. asmypdadlLsaier guiapgul &Sl L LD
V. AIMIEH HMIBHGL6T @UlsLaul &L LD
VI,  seflwny guieydwid wBpid GFwsomu Hlgluwilb.
VII. g@msmeobn wBpid CHemeuwre @uisydiul OHTens.

b) L S L HHBHTE HL_L WIMBIHET DI6V60FH CBTHLILISOE6T - 2 BIFHeT GLITeTaNTe BHTevda)Ge06Ww

SIHBUF  BetewmUll CUBIRIBEH o miEbeT GCBTHBITGHD. PEMBUWITE [BHHIG6T  Ffluimen
OFHTensd 1OBBID Liewld CFISHHID (OB sIaTLInIBeNB (PILaI[Hdds CalemrBLD.

II. HULSHFHeT DIDFRIBET OBMID leneNalBei - CQUBLIFIQUISTHETEN HDFRIGEMETLI LITTHSHI
DIFHBHEH 2 _MB6T QUTDMHWPmBEG BB @aienBdh ofle) GFUIul GeusmwiBL.

IIl. SHLsFHer OpIPeySHHEHMD - H L HHD 6IHTUTTLILIGBENTRIH], 2 63I6nD  ITLPHMBUT60
Ambal CapLBHBEH. FHLBEISNTHIH 2 HiEH6T CHwalds@ gBL CBEIDaISHSHEENIOWITOIHTH
Amebsd Gouemi(BLD.

IV. &lGsL Gsmmeumssii/ wmeHe o Buramp Osmfbsoreiuls GHmeser, GLOHMSBSSI

&L emLoBLITETBEm6.
el 02B3@ UfbBHenIssUIULL  6llenL a6l

a) L alBml (pH6eded ellengeuren oig) Sl
II. SBOLUTMHWI CFTHBHIBmIeTe6 allenTouTen HHBFBLIL. alBLmaTued gBLL L DiHSFLTsId
UTTSHBUBIGHB6T 1oBEID &L enmeildsemen BB GUfSTELD.
III. M#HF GFevea BB FPwLSbHmaIHS @ReoTUD eTemUIBMET HAHBFIIL.
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IV.

VL

VIL

b) L

II.

II1.

IV.

HL6T OBTHHHNTH6T GBTHLILIETE| HTEVD HewrHeilL 6v.

aumid GevdslLBBl FevBalsnenserllsd LML 19[HEBSH60MLD.

BLUY o@D wBpid elemye eldsHd Heljwrer efpFd.

JoBHTH LINIDTHBEIIQUl QFTHEHI UBBTEGHMDB. GO BTevHHe0 B BFIL.

F1é5& Gsomenienlo iewolilens A (PSLILIGHSH0 (Inventory Management System).
EOQ wmpio EBQGUeiB Fréh@al Brum_BLomdflaenl e &7 @eoremienid  DienLoliLleneot
IIBPSBLILGSHHIOUHRT6D CFev6 HeM6d: HHEMDWTHS HLBLLBGHSHEVTLD.

GMOBHHFTHG 2 _BuUSHITHfleemen CFwBLBHSH60.

JIT(Just In Time) Ga&msitpgHed Siemolilene CFWIBLBHSHIOUSHTEO FIbE WeldSHLILIGBET6
OF6v6)] BBID FIHGNTUISMBUID GDBEHSHEVTID.

alBusnsiwITen Glosomewienio OTHflEenen GFWBLIBEHSH60.

QUL semenr  euThRIGUAIT  QUTHLSeme  IPBIGLATHEDRHEG  GUIUILL  HH6eemev
QUDRIGHIOIMBENT. BB  OUTHLBMET  QUPBIGLTHT  QUTBL BT  aluFiLL 19UIem6e0
ugmofliugled  (WwaUIOUTBILIL6I(Hd S GalswT(BLD.

“ABC” ugriuniie) / CybosBoHsiun Lansulmlis sl GrurGase.

el 03B@ UfbHenISSUIULL  6llenLde6iT.

a)

Auvppid B @b@ QeLulsorer eiBusner eilslsn 1:2

QemewibdH @6VTL Henalene] elalGDd = QemewibdH LIMIGH6NLIL X 100
Qemewibd NBLIENET O]
Remewibd GevTLsaaleNaeSHD = (120A)+(60x2B) X 100
(200A)+(150X2B)
= 120+120 X 100
200+300
= 240 x 100
500
= 48.00%
GUIUY : VG HWISHSL(H LIS
Qum(meit A Qummeit B
(. (Th.
alB@GD elensv 200.00 150.00
LOTMID  &FulDd 80.00 90.00
U6l 120.00 60.00
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b)
RemewihdH EeVTLISHININ6)] 6l & HID

@6uTLl QVHEG DML FH6D

Qumr@meT A
Qumresit B

Qemeihd LIMIB6NILIL x 100

QemewihdH elBLIems LDFLIL|

Gordhepleneowimenslgwn + @eot Rsvds@ x 100

B ememTHSHLIMBIGMIL
a 2,300,000 +ep 1,000,000
240

13,750.00

13750%1=13,750 oi0@msiT
13750%2=27,500 o066

el 04B@ UfbBHenISSUIULL  6llenL a6l

Gwsodas albLener U6 u@w".uu
®- 000
GeoumnlarGwefisd 60% (500,000*10%)
ellembLyLd 50,000 400 20,000
/
C .
Cumad? 51 409%™ [ (500,000%1%)
efembugLb 5,000 400 2,000
606UTSH LI
Guevds @W» (500,000%0%)
- 400 -
yeieril A ufled erglyumyéssiiil L gy
CumIBUI LnisefliL GumTUILIL EVep 000
OeIBMIBTIOTS 20,000 60% 12,000
CauBBOLBTHIL HEI 2,000 40% 800
12,800
alembUFILBHHD OF6v6)] 10,000
@6omLILD 2,800

Cuwevgdlas LRGBS TE elembUriiLuGHHSG @ 28,000,000 GFevall il (Heitengl.
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AQAuugsuissien 3 elamessEps@ alenl Weflldbs.

(Qurgsd 30 Usiteraeir)

elem 05B@ UfbgHienrsaiulL 6L aseir.

a) L

IIL.

III.

S LI L Iomed L mIb6T - UTSHBH6T Hedi@ S LIl LIDTe FHILBIGmeT Sfglienl_WITdHd
OB TemTL .

GIbLIRSHBHUILL L QFWIeLAHMT - OF6valBemend S BLILIGGHSHMD, alewuialIuisHhamnd ER6060TLO60
Qauihev CuTEIBaIBBIBEG LUTHBHO @@ LILIGDISTOT aIP(LdBUITEGLD. Eenal GUITHETTSHT]
FlooHemid OBHID NS H BN 2 (HEUTHGLD.

QRUOMIBTET OHTLTUTL 60 LOBHID @HhISementL] - SoLsluler @siGleurm Hlemmpasemsvid,
SiFEelle LTS Ipene Hienm 2aTAUITH61TH6MTe0 D BeomFens QFIWLILIL SBgHl. RH6emTed
Amaud COHTLFUTL 6D o _HauTdBal. S Hemmed @ Goumill L HiewmsendE Renl_ulsd
RIS meILLD gHRUBSBSHI.

V. SIHSM LOTBBLD - UTSLTNH DHBM LOTBBHMS 2aESLILGHHISBSHI.
V. uTeHB QFweLHMeT AHILTH @@ UsoaITUIhHSH SHalWTs, DAhSSHFSSUUI L LFHHass
OBBID DieuTHeTN6T &H(pHHeM CFULILHBENET  Di6THIBSI.
VI 2 6M@BTHE BHID CeIEGLd - LTHLTaH UeihHl CFULIOSHBET N6VHEHHN6N [HIJ6wTLILD
CFUINSBE CHTHOTNTHEDSHEH @ LISVDaITUIHS 2HHH0HTMHUITS STERILILIGSBSHI.
VII. &l @Uur@ - urtsLrergl FrhHauinrer oigellsud@se dpeold Geomemiento GFUISIBaEI.
2 auienlod OFWLEHBE@ISGHID UTHB CFWILAMBeISGEGTEN QUILTNHH6V (LP6VLD  LISVST6ILOT 6
UGH oW 6TBHHIGST L (PISm&HI. QHeMTe0 UTHLTH @ (PHBW UTH B 2 _SHHwTssd
HTerl LGS MBS
VIII. pleweowimen QFevend Osmeensmuld HH0HBHSD 2 He BB
b)
ap 000 “Working1” Q_Iji:l'a%wﬂ “Working2” Q‘T’J f;g“ “Working3” | o_ewrenio Lomps)
BHEOT6U6ITEY 50,000 40,000 40,000
aBLIGDET 500%50,000 25,000 25,000/50,000 20,000 550%40,000 22,000 2,000F
*40,000
LOTHID &FuILD
QUL &Fwib 200%50,000 (10,000) 10’?22/22(’)000 (8,000) 300%40,000 (12,000) | (4,000A)
N3, T 100%50,000 (5.000) 5’030/50’000 (4,000) 100*40,000 (4,000)
40,000
L6 10,000 8,000 6,000 (2,000A)
THlEMEUUITEITSSITUILD 100*50,000 (5,000) (5,000) 5,000-1,200 (3,800) 1,200F
©)eomLID 5,000 3,000 2,200 (800A)

F-grgesiomer

A-LTSHa1I0ment
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elleomm 06B@& UfbgHienrssill L ellenLdei.

a)
1. FTHTINT LIRIG (LPSOSHME SIJUILD
K, = D,(1+g) +g
PO
K, = 80 (1 +5%) + 5%
750
K, = 16.20%
il. B bs (puIngd  (peieniflenior] LIkIGLpe0&Hed  dIFuiD
K = D,
0
K = 28
p
280
K = 10.00%
iii. B b& (PIQUITSH  SHL6ST SFUILD.
K, = i(1-1)
PO
K, = 15(1 - 28%)
100
K = 10.80%

d

iv) BeopCuiBpiwr FrrFfl cpevdpend Sywin (WACC)

. Hhend LOFHI
eweoTETID e Bl COC % COCm WACC
FMTSMI6mT LIk, 750,000 16.20 % 121,500.00 12.15 %
QU(THLDTGOTLD 0.0 %
(pSTEIflenor LIkIE, 140,000.00 10.00 % 14,000.00 140 %
BHL_60T 110,00.00 10.80 % 11,880.00 1.19 %
1,000,000.00 147,380.00
147,380.00
WACC= X 100 = 14738 % 14.74 %
1,000,000.00
b) L Blleue (LpsuHends HLL6eDIoLIL] LOTBTEY SY([HEBELD.
IL BMBEGD (WPHESL 1960 STeWILILBLD S Fao6iT AW (WHeOLIgevId STemriiLiBLD.
I1I. (PEVGHIF FHend Hlewey LBBID 6ufl BlensVENLDEH6T LOTBILEY E(HEBHGSLD.
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elleom 07B@& UfbgHienrssill L ellenLdei.

a)

1) 6T QFIHHIMBH  HM6VLD

GU(HLLD 0 1 2 3 4 5 6
SIGOTED . 55,000,000 | 70,000,000 | 80,000,000 | 80,000,000 | 80,000,000
ol BmIb
Buopsme0s (10,000,000) | (15,000,000) | (18,000,000) | (21,600,000) | (25,920,000)
OF6V6H6IT e,
0556 (200,000,000)
Sfey w0 25,000,000 36,000,000
may (200,000,000) | 25,000,000 | 45,000,000 | 55,000,000 | 62,000,000 | 58,400,000 | 90,080,000
STHFLLTUWLIFF 60
Boir
ALV A%
HigHitiiguirer (200,000,000) | (175,000,000) | (130,000,00) | (75,000,000) | (13,000,000) | 45,400,000 | 135,480,000
STHLLTWLIFF60

15611 CFIHHINBEH BHT6VLD = 4e1mL LD + 13,000,000 X 12 rsmissi

13,000,000 + 45,400,000
= 4 UL (D 2.7 LOTHBIBEHD DIeV60H! 4.225 QIHLHIS6IT

i1) Blay @Benpl Gupiog

UBLLD 0 1 2 3 4 5 6
HBISTELILTIFF | (200,000,000) | 25,000,000 | 45,000,000 | 55,000,000 | 62,000,000 | 58,400,000 | 90,080,000
H6ITEIpLILG  SHTT6uT
% 1.0000 0.8772 0.7695 0.6750 05921 0.5194 0.4556
SEMELIGBSUIIOUC | 00 000000y | 21,929,825 | 34,626,039 | 37123433 | 36,708977 | 30,331,130 | 41,039,236
L ST&HUUTWFFo0
bay Gbampl 1,758,640
Gupiog)

1il. @eoTLGHSHMe &l g

b) “NPV” wipib

(May @menpl GuBIeg + Subu (1P&56e5H)

LJLDLI

WPpH650

(1,758,640 + 200,000,000)

1.01

200,000,000

@eorusHHBed Sy 1@Qewen ol SFsD  sTewiliLGeugsted “Holding PLC”

UMD RSB LSSHIL 601 (PGB (LPIQUILD.
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AuuesHuisysiten 2 elemalBE elenLwellos.
(QrgHso 50 Lsiterlaseir)

elleom 08B@ UfbgHienrsaiLL L ellenLd6i.

(a)
QUi oaRiewibma %o Q&;ﬂggﬂﬁéggmg alensy 1.
X 40% 36,000 175 6,300,000
60% 54,000 180 9,720,000
90,000 16,020,000
Y 100% 24,000 360 8,640,000
114,000 24,660,000
2 BuUSHF eTewienilsme 10,000
10 eSBmy LTLum @eafiBamer BuLSESIFuwLD. 2,466
(b) F
QuIT(meiT il gemBg @b.
X 8.5 aimmy @ (160*1.15) 1,564
Y 2.5 aSmpy @ (320*%1.15) 920
@ Ulumisnet Wemenodsliul L Bley Gumpl &ywib 2.484
c)
1. Qurme elemev (pJewidel = MBUDLHT6TaIeE)] * (IememnhBUILLL BB almsy - B ailensv)
X = 90,000 * ((160 * 1.15) — (16,020,000/90,000))
= 90,000 * (184 — 178)
= 540,000 F
Y = 24,000 * ((320*1.15) - (8,640,000/24,000))
= 24,000 * (368 - 360)
= 192,000 F
QorhsEUTMmeT allensv = 732,000 F

(Lp1J 6901 &B6IT
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ii)

QUTL. LITeNEmaN (LPTeuiidell = emempdhSLILL L Blay allensy * (BBJ LITeena-fUID  LIT6I6n6T)

X = 184 ((8.5 &Smmiy * 10,000) — 90,00065Bmi)
= 184 (85,000 eSmmi — 90,00065Bmir)
= 920,000 A
Y = 368 ((2.5 eSmmy * 10,000) — 24,00065Bm17)
= 368 (25,000 e5mmi— 24,00065Bm1)
= 368,000 F
QTHHEUTHL  LIT6)En6T = 552,000 A
(Lpy 6T 6T
d) QUTET AFUWIDTegH LETENLD&BLILIL L
Baralemneouisy sHnuisluwsieng (2,484*10,000) 24,840,000
QurmeT elleneu(prenide (GoBs0 o @60 AbHbSHI) (732,000) FTHBIOTEN S|
QurmL. ureuemen(pyeridsl (BB 2 @Red BmbdI) (552,000) LIT & EBLDM 60T &)
BuoQUTmsT &Fuid (2,466*10,000) 24,660,000
e) QUITHeT Bevemau(PTeT = BHHIalene0™* (GITdHeHe _awienioll GQLITHET LITeUsN6 X HlHJHe0enel) -
(QoTHHe_awienioll QUITHET LITEIMET X 2_6mienLDdhe0606) )
X = 184 (114,000 x 8.5/11) — (114,000 x 90/114)
= 184 (88,091 -90,000)
= (351,256) ursasioret
Y = 368 (114,000 x 2.5/11) — (114,000 x 24/114)

= 368 (25,909 -24,000)
= 702,512 gngsiomet

QuTmeT sevemau(pyent (Qomdhsid) = 351,256 grgeiomen

QUIT[HET  eNlen6TTe (LT 63T Bareleneo™(CorsHs BaETOLMTHsT LiTeene X By EHe06mel) -
(QuoTHHe_emienioll GUITHET LITENEN6NT X 2 6wlenLDH606M6 )
X = 184 (110,000 x 8.5/11) — (114,000 x 8.5/11)
= 184 (85,000 - 88,091)
= (568,744) urgasioret
Y = 368 (110,000 x 2.5/11) — (114,000 x 2.5/11)
= 368 (25,000 -25,909)
= (334,545) urgasioret
Gurmer elleweneyupyent (Gordhs ) =  (903,289)unsHsiomet
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f) UTSHBLOTE QUITHST LIT6UENEN (LT IhaHT6u BT 6mIhIH6T.

1.

GEOBLTLTET DI6V60HI SHTDHSH HILOTer CQUTHL Sevledn LwsTLm®.

2. SIFBUIQUITET QUTHET LIWeTLTH  Dievevgl GLITmeT HmL (.
3. QuibFHT FTEHMEV| Disvevdl LFTRNILS &emme).
4. Pl 2ad@Gallll] BT @emn.
5. GOBHS GomuTyenel.
2) BUWILDRISETTEIHI @(H HTVHMSH DEMIDHD, GISHTUTITSH FIDLIGNBIGET 6T6TLIN @[ HHSHTFUNed

SU_BUUTLenL 15l gJMBUL6VTD. QHBE HL6L 2 SHTJewild, IBHI aisld AHSFLTD CuTmefedr

alemsv 1500 aIHHIHTL DHBFHH60. UHCa Bmieusdhalenr GQuImILTer HHSTH S BLLGHD
YWy UGH BohH CUTHID  Wromems  sLEIUGSS Gosmbigw UGS U  BHbI
B BUUBSHS (Wwrsh UGHsowll flliug (WpoHaEwTersHT@LD.

S BUUBSHS (PYUWITH UGSHWTEIH S LWL 6L (pIewm@G, WBu3Id  SLBULL SHHSHamIUI

UGFHWmens Buimkl@ Wrenm@G. Csild, @ bHineuarsHder DigHaTfleeiler 6Fus0amearTearg

QUIRIG (PTETHNEN QUL WTHS OsTemi(B HemiobsllL. CouswrBLD.

elleom 09B@& UfbHmIsBUILLL  6lenL eIl

A)
a)
P Q R QLoTg LD
b HTCHILD ML Mise6i 10 5 20
o wibsul F@seital 7,000 5,000 10,000
LUWSTLGSSLILGLD 6bHTCHILD IO Fise6i 70,000 25,000 200,000 295,000
HenLSHHLIOUDID 6HATGHID (5,000 *60) PO Hibeed 300,000

QriEe oFs Cxealdbarar o BUSHGEG GUTHILTE 6HATCHILD HTEMILILIGSMBSI.

P Q R QLT FLd

F60CHID HILOLMIS6N

[(40/120) x | [(30/120) | [(80/120)
60]=20 | x60]=15| x 60]=40

o wWiihsLL FCseieal 7,000 5,000 10,000
LWSTLUGSSILGID Fn6e0GHIID ML Bisbe6i 140,000 75,000 400,000 615,000
AL SHL0UEBID Fnel8HID (10,000 *60) Mo Fisefed 600>000

@miE almyuwemBeh HTFenl / HUGUUTLTET 6D HenidHl FnedCHIID GID.
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b)

Q R
aIB@W alenev 150 145 280
QLTHSHLOTHBID  &SFuid (110) (85) (220)
(W1L3% 30 W W 40 60 60
SIVOBTIVIBHTET Fn60GBIID (BILOLMIH6IT) 20 15 40
QUEMTWIENDBES  HTTEMTSBTE LIS 2 4 1.5
seuflens 2 1 3
c) 1
2 &bHFH OUTH6T Heveneu ® FhdH 6CIERTENNHEMND
Qurme Q 5,000 (5,000 x 1/4) =1,250
Gummeit P 7,000 (7,000 x 1/3) =2,334
Gummeit R 9,625 (9,624 x 2/3) =6,416
10,000
1. T ATUMTTHBILIGID LnhiserL]
QurmeT Q = 5,000 x 60 = 300,000
Qumpeit P = 7,000 x 40 = 280,000
Qumr@meT R = 9,625 x 60 = 577,440
1,157,440
d) nur@meT & @60 LB HewmCaumprs Bseiailuilsdensy
W)
QM FnedBIOIL HABETTLIBISEIL = 150
Qm FIPIILSHBaTansbaaban o sem alewev  (120/60) = 2.00
QM FnedBIIL HHBHTOR_WTHSLIL Fellenev = 3.50
QM FneVlloemN HAHWTVSHHBHTEN_WIFHHLIL F6llenev(ch.) = 210
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B) a) “OsmiLmen” sibue
HLbGHID GFevey BEID GFevey GFIONIL| HewTdSH®H.

ailyid )

QRH SVBHBEHTAOTHHL _BLSHS SFuid 2,750.00

() Qb DIVHMSHTET HlENEOUWITET SITUILD

(3,000,000 + 300,000) / 10,000 330.00
QRh SlVFMBETEN OTHILD HFuid 2,420.00
Geuell&F shHensalemev 2,500.00
GameeuaalBsTenGendsd &SFwib. (80.00)
RUHOTHSHHBHTET GLoTdHd GevdHdh SHFuild. (800.00)

Blensowimenaywl Gy

ATLend SHalJbg Heveowmer &Fuib 1,200.00
QUTL 6 300.00
Qb IHHHBETE Corshs Syuwind Gl 1,500.00
Blardyund Gy, 700.00

“KPL” syenig  QausiFsmbensuisd Gameieusne Gauisugsmsd ap 700,000.00 wrsd  @edBe

Gallium@LD.
b)
aluyd W)

Qb SJLSBSTET LOTBILD SlFuwid 2,420.00
GeuellF shHemsalemev 2,500.00
H SjvdBsTen OFmeteuaie] Gedssd HFuiLd. (80.00)
20,000 sEsEnsEE R WOISSHBHTE OTSH%H Goeodss SFwid. (1,600,000.00)
Blensowmesazw Gl

ATLemd SHalJbhd Hleneowmer &HFuid 1,200,000.00
QUTL 6Nb 300,000.00
@@ LISSHBsTen QIS SFwid Gaoli. 1,500,000.00
BHaIGevH HH  SlFWILD. (100,000.00)

rHTHH CHewauwimerg 20,000 sieflsir, Hlay Gsudled Sgwid wreHHABE 100,000 EID.
BC T emBHG OUBLILLL SLIL SHFH60 OHTLIHH 2 MUSHFH CFuleugl UfbHenTHHHImIQUISI.
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Notice :

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.

The fundamental objective of this publication is to add completeness to its series of study texts,
designs especially for the benefit of those students who are engaged in self-studies. These are
intended to assist them with the exploration of the relevant subject matter and further enhance their

understanding as well as stay relevant in the art of answering questions at examination level.

© 2014 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
All rights reserved. No part of this document may be reproduced or transmitted in any form or by
any means, electronic, mechanical, photocopying, recording or otherwise without prior written

permission of the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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